residual of frame 0, mean = 1.5671136379241943 +- 9.497910499572754
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residual of frame 1, mean = 3.588965892791748 +- 9.499314308166504
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residual of frame 6, mean = 0.9078248739242554 +- 9.580595970153809
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residual of frame 8, mean = 0.5162541270256042 +- 9.507061958312988
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dual of frame 0 - 1, mean
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dual of frame 3 - 4, mean
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residual of frame 4 - 5, mean = 1.9156421422958374 +- 13.455218315124512
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residual of frame 6 - 7, mean = 4.066641807556152 +- 13.596439361572266
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residual of frame 7 - 8, mean = -3.6750710010528564 +- 13.410700798034668
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residual of frame 8 - 9, mean = 1.8536301851272583 +- 13.408388137817383
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residual of frame 9 - 10, mean = 1.6324738264083862 +- 13.483123779296875
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